R6.5.1 Bl SramEEAnR S sl R

JNE] i H FEHE BRI fhENRE TN E)
LU HaEL 5 i ] A HEPER| AR SET| I EsA ERsH &EH (H) | (&)
x| 49,575 109, 700] 53,299] 56, 401 111 69l 64 50 114 133]  662] 529 0 116 116
HI—TH 710( 1,478 722 756 7 4 -3 0 3 9 10 1 -2 0 2
FL T H 581l 1,309 651 658 5 4 -1 0 1 1 5 4 4 4 0
LI =TH 471 1,042 495 547 -1 —4 -1 0 1 -2 1 3 -1 0 1
JLlAEH 1, 7620 3,829] 1,868| 1,961 11 -5 0 5 8 16 8 1 4 3
Sk —TH 493 942 444 498 4 -1 0 1 7 8 1 2 2 0
. = 735 1,690 806 884 0 -1 1 2 8 11 3 -3 4 7
SR —TH 568( 1,300 622 678 7 14 2 3 1 8 9 1 4 4 0
S AT H 398 871 439 432 1 -3 0 0 0 -2 5 7 -1 0 1
o h ] B 617| 1,321 634 687 3 9 -1 1 2 -1 8 9 11 11 0
BN T B 239 491 246 245 1 0 -2 0 2 2 2 0 0 0 0
ARt TH 652/l 1,619 788 831 4 3 -2 1 3 4 7 3 1 10 9
oA\ T H 394 842 386 456 -1 1 -1 0 1 2 6 4 0 4 4
IV B 625[ 1,474 721 753 2 4 0 1 1 2 7 5 2 2 0
B naatl 4,721 10,5500 5,086 5,464 21 40 -6 7 13 30 63 33 16 37 21
e n—1H 353 780 381 399 -2 -6 0 0 0 —6 2 8 0 0 0
waE s T AL 1,026) 2,092 1,045 1,047 0 -1 -5 0 5 5 10 5 -1 0 1
HHk o —TH 675l 1,377 672 705 -2 -3 -2 2 4 1 4 -2 0 2
W A EEL 2,054 4,249 2,098 2,151 -4 =10 -7 2 9 0 16 16 -3 0 3
Mt A — T H 558( 1,237 594 643 3 5 2 2 0 2 6 4 1 1 0
ek R _TH 365 919 462 457 2 1 -1 0 1 2 1 0 0 0
Mk R =TH 252 549 281 268 1 2 1 1 0 1 4 0 0 0
ik L G| 568( 1,298 662 636 2 -5 -1 0 1 —4 8 0 0 0
msEr aaEt] 1,743 4,003] 1,999 2, 004 8 3 1 3 2 1 18 17 1 1 0
TEIT) 383 845 409 436 2 3 -1 0 1 2 4 2 2 0
HOEEN— T H 215 437 220 217 1 0 0 0 0 1 2 -1 0 1
HOEE T H 437 945 467 478 1 -1 -1 0 1 3 13 10 -3 0 3
HoEEI =T H 717 1,698 831 867 7 13 1 2 1 11 17 6 1 1 0
HOEEAN T H 820 2,057| 1,023 1,034 2 2 -2 0 2 4 4 0 5 5
HEROH T H 439 1,010 513 497 -3 -8 -1 1 2 -2 4 -5 0 5
HOEEIS T H 389 846 412 434 -6 -5 -1 0 1 -5 13 1 2 1
HoEEOETH 677 1,420 698 722 -3 -9 0 0 0 —4 9 -5 0 5
HOEEHOS A 3,694 8,413 4,164| 4,249 -1 -8 —4 3 7 8 56 48 -12 8 20
PEEER 1,526)  2,733] 1,317[ 1,416 4 -3 —4 0 4 1 14 13 0 1 1
FHIAR 305 639 326 313 2 3 0 0 0 3 4 1 0 0 0
EE g —T 552 1,117 516 601 -2 0 1 1 0 —4 1 5 3 3 0
EE g — T 261 510 253 257 0 -3 -1 0 1 -3 4 7 1 1 0
R =T H 535 1,163 576 587 3 -1 —4 0 4 3 6 3 0 0 0
TEE Py T 661 1,314 621 693 2 8 1 1 0 2 9 7 5 5 0
EEP g R T H 238 546 267 279 1 3 -2 0 2 1 6 5 4 4 0
EEP A2 2 247 4,650| 2,233 2,417 4 -5 2 7 -1 26 27 13 13 0
EEIARRT— T H 717 1,405 665 740  -20] -23 -1 0 I -22 20 42 0 1 1
EEIARRT T H 676 1,291 596 695 -2 -1 2 3 1 -3 6 9 0 1 1
EEOOARRTAE] 1,393 2,696 1,261 1,435 22 24 1 3 ol 25 26 51 0 2 2
RPN 276 774 421 353 -2 -5 -3 0 3 -2 1 3 0 0 0
WHR—TH 738 1,648 806 842 1 1 1 1 0 0 12 12 0 0 0
HOOR T H| 1,739 3,899 1,886] 2,013 5 5 0 3 3 10 28 18 -5 2 7
WHR=TH 879 2,197| 1,068 1,129 -1 -7 1 1 0 -8 2 10 0 0 0
HHRIT H 506| 1,199 569 630 1 -1 -2 0 2 1 4 3 0 0 0
HPREEH 3,862|  8,943| 4,329 4,614 6 -2 0 5 5 3 46 43 -5 2 7
HiR—TH 727 1,575 773 802 0 -3 0 0 0 -2 6 8 -1 1 2
LR - TH 957| 2,261| 1,127] 1,134 2 5 -2 0 2 10 19 9 -3 1 4
PR =TH 502/l 1,057 545 512 —4 -1 -1 1 2 -2 7 9 2 3 1
bR &EH 2,186 4,893| 2,445| 2,448 -2 1 -3 1 4 6 32 26 -2 5 7
T IROBTHT 328 800 381 419 0 -7 -1 0 1 -2 5 7 —4 0 4
WEl 1,634 5,091 2,260 2,831 11 12 -5 1 6 16 35 19 1 1 0
M E T H 783 1,773 858 915 8 18 -1 2 3 19 21 2 0 5 5




R6.5.1 Bl SramEEAnR S sl R
JNE] Fij T EE I H SREh e fhENRE TN E)
LU HaEL 5 i s A AR AR SET) ] A EREH &EH (H) | (&)

FYlE 1T H 765 1,785 888 897 0 -6 -1 0 1 2 7 5 -7 1 8
MoE =1 H 631 1,457 714 743 6|  -16 -1 0 1 -9 3 12 -6 0 6
A EN T H 934/ 2,192| 1,041 1,151 6 10 -3 0 3 13 17 4 0 2 2
RCENNE 680| 1,504 742 762 0 0 1 1 0 3 3 0 0 0
MAEST H 415 961 448 513 -3 -7 0 0 0 -4 4 -3 0 3
M EaE 4,208 9,672] 4,691| 4,981 6 -1 —6 3 9 21 51 30 -16 8 24
VEPIe S 587 1,142 560 582 6 6 -2 1 3 6 12 6 2 3 1
e —TH 329 698 336 362 1 4 -1 0 1 1 5 4 4 0
i — T H 600/l 1,310 625 685 1 5 0 0 0 4 4 1 5 4
A gl 929 2,008 961| 1,047 2 9 -1 0 1 5 14 9 5 9 4
Eh— 1 H 304 678 342 336 0 0 1 1 0 -1 2 0 0 0
B — T H 686 1,401 651 750 7 8 -2 1 3 6 3 4 4 0
=T H 431 1,079 543 536 5 4 0 0 0 3 2 1 1 0
EAE| 1,421 3,158 1,536] 1,622 12 12 -1 2 3 8 15 7 5 5 0
e —TH 388 920 430 490 2 9 0 0 0 9 9 0 0 0 0
WHE T H 4471 1,062 526 536 0 -7 -1 0 1 -6 1 7 0 0 0
HWHE =T H 837|l  2,037] 1,035 1,002 5 6 -3 1 4 9 15 6 0 0 0
W& T B 453 1,023 499 524 0 0 -2 0 2 2 0 0 0 0
B E ] H 850/ 1,807 897 910 1 4 -1 0 1 14 8 -1 0 1
HHIENT H 243 496 250 246 3 6 1 1 0 5 0 0 0 0
HEOEE 3,218  7,345| 3,637 3,708 11 18 -6 2 8 25 46 21 -1 0 1
<HWE—TH 600[ 1,336 647 689 6 8 0 0 0 8 0 0 0 0
<HEIL—TH 711 1,469 716 753 0 -1 -1 2 3 9 9 0 0 0
SHBEIL=TH 516 1,112 547 565 -1 1 1 1 0 6 6 0 0 0
<HEWLPTH 586f 1,172 574 598 9 7 0 0 0 9 2 0 0 0
<O T H 270 588 313 275 -3 -10 0 0 0 -11 4 15 1 2 1
<MEEEH 2,683 5,677 2,797 2,880 11 5 0 3 3 4 36 32 1 2 1
WIE AR —TH 804f 1,692 832 860 1 -5 2 2 0 -5 9 14 -2 2 4
WIEAR T H 4871 1,135 587 548 4 7 1 1 0 6 7 1 0 0 0
PIEATSE 1,291 2,827| 1,419 1,408 5 2 3 3 0 1 16 15 -2 2 4
s 416 792 374 418 8 11 1 1 0 10 18 8 0 1 1
ek o —TH[ 1,189 1,859 854 1,005 3 —4 -1 0 1 -7 21 28 4 4 0
e T H 597 1,076 517 559 3 6 2 2 0 5 11 -1 0 1
kR =T H 758l 1,813 846 967 2 1 -1 1 2 2 8 0 0 0
sk BRI H 426 862 414 448 5 5 1 1 0 4 12 0 0 0
ke Etl 2,970 5,610 2,631 2,979 13 8 1 4 3 4 52 48 3 4 1
FRIREET 22 52 26 26 1 1 0 0 0 1 1 0 0 0 0
B 741 1,715 820 895 0 —4 -3 0 3 -2 8 10 1 3 2
VEEE 336 726 335 391 -3 —4 0 4 4 6 2 -3 0 3
e — T H 454 1,096 544 552 1 2 1 1 2 3 1 0 2 2
e T H 409 903 445 458 -1 —4 0 0 0 —4 1 0 0 0
oo B R 863l 1,999 989 1,010 0 -2 1 1 -2 4 0 2 2
P — T H 710( 1,433 719 714 -3 -3 0 0 0 —4 11 15 1 1 0
P T H 541 1,271 600 671 -1 -5 —4 1 5 -1 2 3 0 0 0
Ve A a1, 251 2,704 1,319 1,385 —4 -8 —4 1 5 -5 13 18 1 1 0
P e 315 691 353 338 -1 -1 1 2 1 2 2 0 —4 0 4
BEHIR 210 474 254 220 1 2 -1 0 1 4 1 0 0 0




